— e — —
. A —
. S —y — 42 — 41

T R . S S R
- N W e .. || || N W
\ 4 BB v ¥ | - | BB\
— [ W Y _— { T FeN

Installation manual
DL850S27DR-SB

DL850 Doppler Speed log sensor
DOLOG 2X replafement

|

SKIPPER Electronics AS
Enebakkveien 150

P. O. Box 151, Manglerud
Sfjjjls'i?:j:;eﬂﬁg”ay Document no: DM-D100
E-mail:  support@skipper.no Rev: 2124

For KIT-DOLOG-M1-SArev 02

Telephone: +47 23 30 22 70
Date: 2021.06.17



SKIPPER DM-D100 Installation manual Dolog replacement

TABLE OF CONTENTS

Introduction

Prepare speed log replacement
Installing sensor adaptor kit

Remove old dolog sensor
Prepare sensor for installation

Install sensor into dolog tank
Connect sensor cable

\O |00 | [N [ W N

INTRODUCTION

This document describes how to install a SKIPPER DL850 100mm sensor into an
excisting DOLOG 2X (DOLOG 21/22/23) tank.

The Rev 01 of KIT-DOLOG-M1-SA is a plastic adaptor replacing the heavy steel adaptor
from rev 00

The sensor replacement is recommended to be performed in dry dock. It is possible to
replace the sensor with vessel afloat.

The replacement will require new DL850 Operator unit, transceiver unit and sensor. For
Operator unit and Transceiver unit installation instruction, please see respective manuals.

This procedure will mainly cover replacement of DOLOG sensor.
DL850S27DR-SB consist of:

+ DL850S27DR-ZB Sensor DL850 270kHz wiuth plugged cable end
+ KIT-DOLOG-M1-SA Kit DOLOG 2X

+  KIT-DOLOG-T1-SA. Kit Mounting tools DOLOG 2X

Date: 2018.04.18 Page 2 of 11



SKIPPER DM-D100 Installation manual Dolog replacement

PREPARE SPEED LOG REPLACEMENT

The DOLOG speed log to be replaced consist of the following main parts:

1: Operator Unit.
To be replaced by SKIPPER DL850 Operator unit

2: Cable from operator unit to Electronic unit.
May be reused for DL850

3: Electronic unit
May be replaced by a terminal box for DL850 communication.

4: Cable Electronic unit to terminal box.
May be reused for DL850

5: Terminal box.
To be replaced by DL850 Transceiver unit (24VDC and/or115/220V AC requirement)

6: Sensor cable
To be replaced by DL850 sensor with 40m cable

7: DOLOG tank
To be reused for installation of DL850 sensor with DOLOG adaptor

8: DOLOG sensor
To be replaced by DL850 sensor with 40m cable

Date: 2018.04.18 Page 3 of 11



SKIPPER DM-D100 Installation manual Dolog replacement

The sensor cable pipe (orifice tube) on the housing is part of the ship hull and has to reach
above waterline (CWL=Construction water line.)

If sensor is replaced by diver in water this construction will enable water to come into the
oricife tube construction but will stop at the level of water line.

Ornifice tube

Bow Ihruatero

The pipe has a watertight gasket in both ends.

e 48
Einbausafz 4 1) T i
Ins falighion kit || Lq-gﬁla‘.-p.s
SWEMSGOIE [ ; A+ Wand!ar - Gehéiu
Best N gear o M“"‘x. i i RN Transducer ca:
Stack No. . —f.-f\—Ep--l!— SWE0R9G 002
G | Besthr g623,
/ _/V// // Gewicht: 71 kg
Waight :
."—‘-'__
7
A [’
) | !
o _ <
=+ — ;
a 1 s
i i
I
AuFerhaut d [b=H———= : :
Shell plating FR. | N 1 —
T T T '
\ |
Y 1
— = . )

Date: 2018.04.18 Page 4 of 11



Exploded
Front Mark Q

Front Marks

POS.| PART NUMBER DESCRIPTION QTy.
1 TC-2067 Adaptor plate for DOLOG 1
2 TC-2068 Insert OD13mm ID11mm L67,5mm | 4 | |
3 Z0A-01229 Screw M10x80 mm DIN912 A4 4
4 ZOA-01242 Screw, Allan key M8x80, DIN912, A4 | 2
5 Z0A-01228 Washer M10, DIN 9021, Steel 4 |o
6 | DL2S/DL850S27 Sensor 1
7 TC-2065 Bar DOLOG for DL850S27 1
8 ZOA-01011 Lock Nut M8 80 DIN 985 St Steel A4 | 1 | |
9 Z0A-01071 Spring washer M10 DIN127B A4 2
10 Z0A-01070 Split washer M8 DIN127 A4 3
1 Z0OA-01081 Rubber gasket for DL850S27T 1
@ | zowows | S | 2 |
13 ZOA-01257 M10 Nut / Lock nut 2
14 ZOA-01143 Lock nut M6 DIN985 A4 1
15 ZOA-01013 Locking washer M6 1
@ e % P-”it©LL
ST2018.04.11 GT2018.04.11 broke or deburred N/A
sassEsmsms=== |  Mounting of DOLOG
PV IR - c2¢
; ; 3 " Electronics AS mwmwwmﬂom Eur. projection Lm_v@ Scale mw%:%.mm w:mowm

INSTALLING SENSOR ADAPTOR KIT
Install the sensor into the DOLOG adaptor as described in drawing.

Sensor forward (ahead) mark to be correctly positioned.

SKIPPER DM-D100 Installation manual Dolog replacement

Page 5 of 11

Date: 2018.04.18



SKIPPER DM-D100 Installation manual Dolog replacement

REMOVE OLD DOLOG SENSOR

Before old DOLOG is removed please prepare DOLOG sensor cable to be removed.

» Cable end unscrewed fom terminal box.

* Along rope fastened to cable end. This rope will be used for pulling up the new DL850
sensor cable later.

Unscrew the 4 screws with a 8mm Allen key.

There are 2 levels of threads.

* Threads in tank

* Threads in sensor

Do only unscrew the tank threads so the screw hang in sensor as described in below picture

The sensor is now loose but most probably stuck. To force the sensor out of tank use the
removal tool or similar. When loosened, disconnect cable plug.

Use a crow foot 36 mm, 1/2 inch extension and rachet to unscrew 36 mm nut inside tank.
Store the 36mm nut and gaskets in a safe place for reuse on SKIPPER sensor.

Pull out cable and bring cable with rope to a dry place. The rope is now going all the way
from top of tank pipe, through pipe and tank and to the dry place.

Take care when removing
the gasket set.
(Must be reused in the new sensor)

Ship™s hull Tool Dolog sensor removal
[0A-01224
Sensor Dolog X2

Date: 2018.04.18 Page 6 of 11



SKIPPER DM-D100 Installation manual Dolog replacement

PREPARE SENSOR FOR INSTALLATION

Install the 36 mm nut and gasket onto the 40 m cable of new DL850 sensor.

NOTE If installed by diver with vessel afloat:

The sensor cable is now going to be lowered into salt water.

To avoid salt water to penetrate into cable during diving operation the cable end is sealed.
Fasten the rope to new DL850S27DR-SB sensor cable end.

The new sensor cable may now be pulled up the tank pipe. Fasten gasket and 36 mm nut.

Gasket Kit from Dolog tank

Date: 2018.04.18 Page 7 of 11



INSTALL SENSOR INTO DOLOG TANK

Lift the sensor into the dolog tank Fsten with 4 x screw M10x80.

The 2 x threaded bolts M10x400 and wing nuts included in the KIT-DOLOG-T1-SA kit may

be used to lift the sensor into the dolog tank.

Raise the complete sensor with help of the 2 x wing nuts. When in upper position fasten the
2 x M10x80 mm screws.

When sensor is raised and secured with 2 x Screws M10 x 80 mm.

Remove the 2 x 400 mm threaded bolts. Fasten the next 2 x M10x80 mm screws were

threaded bolts are removed.

Date: 2018.04.18 Page 8 of 11



SKIPPER DM-D100 Installation manual Dolog replacement

CONNECT SENSOR CABLE

DL850S27DR-SB. speed log sensors are supplied with a water tight cable end to avoid
water intrusion into cable when/if replaced by diver.

The following parts are supplied:
* Parts to prepare connector end after diving operation is finished. (The original cable end is
supplied as a reference)

Date: 2018.04.18 Page 9 of 11



SKIPPER DM-D100 Installation manual Dolog replacement

! |

2

C
D
ITEM NO. |PART NUMBER DESCRIPTION QTY.
£ 1 ZOA-01225 Thread bolt M10 x 400mm 2
3 Z0OA-01226 Wing nut M10 DIN3154 EZ CR3+ | 2
4 ZOA-01224 Tool Dolog sensor removal 1
4 ZOA-01228 Washer M10 DIN9021 steel 2
— 5 ZOA-01227 Crow foot 36 mm 1
CN [ ™
Designed by - date Checked by [Approved by - date Material
ST 2015.02.06 G.12015.02.10 As parts
Name

SKIPPER

Electronics AS

Kit Mounting tools Dolog 2X

Drwg. no.

KIT-DOLOG-T1-SA 00"

Gen. tolerance

1SO2768m

Edition date
2015.02.06

Scale

1:2

Sheet
1of1

Eur. projecﬁon_g_ @

Date: 2018.04.18

Page 10 of 11




SKIPPER DM-D100 Installation manual Dolog replacement

‘posuind 8q jou {snw 330y JadNPSUDY
UapIOM  UBYDIISIE P HDP  BYIDUYBYS 3G (5
05006909 MS
X0 U0INquSIp 3y} U pua3)qD) 3y Jo buissalg

050969095
UBYSDYI3)1} 5 WaP Ul SIPUBIEADY SIP UBJYIIINZ (s

" puoAdiys Aq uoyniax3
“JHBMnDg Y2unp BunINISTY (o;
3y Aq uoyndaxy
vy yoanp Bunaynssny (y
4ybua) ay4 aunsoaw ‘saanpsubyy buipssul aJojeg
*uaba)ysaj abup Nbqui3-J3)PUDM JOA (24
"L0096909 MS J3InpSUDY 0 Pa{DJ3y
10096909 MS JeIPUDM WnZ 4043Y (g

“2009 6409 MS buisp3 o payojay
'2009 6709MS 3SNDYRY WNZ 44043 (5

SB6LNAr 9Z/NG 986NN 92N
SV.LI4IA INSYON 130 oAy if 1oy ddin
4/8Y/88-2¢ I d 98/169 75 P
,&.E_\m ‘w. %% sploj7  phoTwidy  :uasspjabnz (x
668L-LLL0EL “pauay
PAo)T ‘wiH uassojabnz (4

%9059 €0 IS '%E0=D
'%80 59 50 UN' %€Z'0 =) : BuIsp3 Jo  [pIsRfOK
‘SUZLNIO SZI-SD 4H04SHIIMISNDYBD by

SELS-8Y9ZNIOOL ¥S'E9
aqny ssajwpas
(s (1 Yoy S3sOYON

BunssaJd J3A0(.DqZ) D 2'0 J04 Jybly aunssald
YINIpI3G() (409Z) DAWZ 0404 421400
o
265714 B.ﬂww
£009554 MS
auljJajom 3109D
Ppupi6 - 3)9D3 146H4I34OM
(s Bunaynjyonpraqoy appipaassom
BIUI|JISSDM JBp q)DYaq0

/1L )

v ¢/119 22 0S!

(st 28 2009 6709 MS
335 UOLDWIOUI J3Y4INy JO
(52268 2009 6909 MS
ayals uaqobuy dJa41aM (oz
0507 SXD
Jouipnyibuo) 4noqo ajbuo  buiy)iL
050 9 0 voyRIp
bunos of aAyDRJ Y0440 Jo 3buy
£ SUOHOIBP  BNQISSIULIAS
Ma_ o4
J3ipJod 3G 4snw a3pj JAINPSUDJL
050F asposbupy aip wn  jayumddy
050 S 0 By oy 0z jRYUIM)RYSUY
:wabunyIIMqY SBSSTINZ
-uaban) M) Iz
J2ipIDd g SIRIPUTM SIP SYIDYIUDHS (5

oncus s ev — e am : T N .Iaéi.%
gl Y . T @ T 7 T T T 0 1 7 T 7 T 7 T 3 T m T Z
[ - | 5697 =7] M
|1 (30)Z3 000 0 6909 MS |smomeiionn. | BEHLHRAD  ovmmmonaon e :
oo ] 00677 e % m
115 NOLLY TIVISNI HLIM Y3INOSNVL 7 100- | P h v oushaOHE. somnzzs N AU
- O O oy t
Z1YSNYENIF LI §FTGNYM il spesifomn | R qojsyowsuolNpoIday IN 459G
E— § - (0LW-216 NIG)
— - - | 5201 6909 MS
— I m S
e ) M | . o il
3
w p0js NS g
— ) ST 6095ZLb uyysag  YBEECLE  uy ysag = papjam 39 of L
e e gy usz & (o1 (7 UBKIOAYS
6009 6909MS 40/13p0 €009 6909 MS
3 13 J0423UU03 Yyim 3)GD)
P o i 1990334
(ot fz UBEmMYIS [E— A
o g (o UaHDID
E—— )
. — — T —
2 89ys 36 WAWBINSDAW PUD UOLDJIDISUI JO4 T W @HQ \ \\\;
Z4401g Yoo bunssawss/ pun noqui3 — — - \ €
H “uoyDjnSUI \ % [
JOJ JOJIBUUOI y4IM 3)GDI ¥I3yD 'SSBUYDLY-J8DM Jof BqNy 34:§2Ejoud i
pup (yupy)uoyp)jysur buispy Janpsupy ¥3ayd bupjopun a.Jos3g 8oy butpoo)4 4
yopnd buyyod
“uaynud uoDIOS] JD QOIS Y1ayBiyyIg nd ugod 1245
pun (yup ) NDGUIZ -3SNDY3D-J3IPUDH UBKIOPSNY WP JOA (1 hom #oyusgny
’ ‘Buiplan 310437 30021 " 1e08 0 Pajoaya.d 39 jsnu bus) ¥ B ssnrm%m
024" 3008 470 wap Jon 4si asnpyan sog (z g £99€2U oy ysag
“6upy Jo  Buypid warjoq ayy yiim & awmuwwmw QM
ysn)4 8q punoJo 1o ysnw BuispI JaINPSUDY 3y4 Jo 3bpa Jamo) Y] 1y JEIPUDN
ues bipung bunpiapwap mzq  aypjduapog Ll
M 3P Juu 514125))0 gu SaSNDYE0-J3IPUDM S3p HUDAIUN A0 (€
3wy 4q paijddns
VY 4924317 (y
PpanAduys Aq panjddns
o Hamnog 424317 (s by | HBM ,
g1
N 05 = anbuoi BuuegEil \E P \gaﬂqwm s
(N 05 = yeuougaipsbizay) , (s UBgIMY: EBEEZI Uy ysag
20096909 MS oN Y045
[N buisp Jo suoisuawig buispy  Ja3npsuvy . 92L9E9L avyseg || |
0 T Sossgue cele (34 (4 (s FSPRY2D-J2)puTM + 91006909 Mo
R 113 UoyDIIOySUy

(st (y Z/DSPDQUI3

v a-v
o \/ w005
snipos bupusg
uassaugoyeborg
@ (w07 097
I
Ppapjam aq of 2joy 6utpooj4
(o GRgIMYS yaoyn)4
oy
snoJop
Guryaow diy:
Bunsanyioy sy

s (s

(uoy33404d “yow pud 433pa)

X0q UoHNGLYSIp 0f PUDI5 3IGD3 WY Aok 3yj )jp
(pajyumwsip 6uraq jo 3)qodn3) 3qD3 Jog adid aA33j04d
:AJDssaau 4|

(Z{NYS JaYISIUDYISW PUn J3YIS1HYR)3 )

3s0pJa)iajI3/ s1q bunynjyinp)aqoy uoa

PuaabpINp (40GB3)I82 ] J40uZiny3SI3qDy
“Y2143pJ04Ia s)D4

wwg <

Buguoid Jjous ¢ sdiys jaays uo woDOISY
nOQURgRY | 344435 BUIBIDYS JnD. NDGULF

L I H I

T T 7 I

T

s I [

AN

Page 11 of 11

Date: 2018.04.18



	Introduction
	Prepare speed log replacement
	Installing sensor adaptor kit
	Remove old dolog sensor
	Prepare sensor for installation
	Install sensor into dolog tank
	Connect sensor cable

